2
) Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
7,981 x 1000000 = 2,313 x 1000000 =
4, 889 x 1000000 = 8,313 x 1000000 =
9,046 x 1000 = 2,131 x 10000 =
5,91 x 10000 = 6, 195 x 1000000 =
1, 685 x 1000000 = 3, 675 x 1000000 =
3,765 x 10000 = 1,801 x 10 =
4, 154 x 10000 = 8,061 x 100000 =
4,286 x 1000 = 3,625 % 100 =
5,012 x 1000000 = 6,032 x 1000 =
3,625 x 10000 = 10, 537 x 100 =
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v 7d =18

Multiplicera decimaler med tiomakter

namn:

7,981 x 1000000 = 7981000

4, 889 x 1000000 = 4889000

9,046 x 1000 = 9046

5,91 x 10000 = 59100

1, 685 x 1000000 = 1685000

3,765 x 10000 = 37650

4,154 x 10000 = 41540

4,286 x 1000 = 4286

5,012 x 1000000 = 5012000

3,625 x 10000 = 36250

Datum:

2,313 x 1000000 = 2313000

8,313 x 1000000 = 8313000

2,131 x 10000 = 21310

6, 195 x 1000000 = 6195000

3,675 x 1000000 = 3675000

1,801 x 10 = 18.01

8,061 x 100000 = 806100

3,625 x 100 = 362.5

6,032 x 1000 = 6032

10,537 x 100 = 1053.7
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